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i A A e zenk it () BRI (O
B 2 e | e st | AV s | mue [wemir | B LS Domsen| me | asesar | B
HREH 35826393 85| 141216129 5.6 623427.1 7.3| 2363581.0f 3.8 271331 34| 1063371] 0.3
iRl 1 6868848  13.1| 27184719 11.6| 1 | 328206.4 7.8| 1234881.8] 4.0| 1 45410 73| 181221 57
/TR 2 4120136|  11.1| 16217808| 4.4| 4 34092.1 53| 134169.5| 2.0| 3 23019 71| 92945 24
B/ | 3 4087859 81| 15945023 36| 2 62554.1 8.6 233847.2| 26| 2 26592 46| 105681 1.0
R/ RO 4 2547374 2.8| 10100977 22| 3 36156.9 216 146062.2| 12.8| 4 19317 17 77123  -0.3
JE1/E0%| 5 2388147 7.7 9512048 54| 5 31508.7 30| 124564.6 53| 5 16437 5.0 65136 3.3
H8/ B4 6 2108811 0.8 8103940 25| 6 16871.2 -26.8|  727937| -16.2| 6 15204 -2.4| 60052 -1.0
/g 7 1629716 3.6 6470603| 5.7 9 14651.5 30.6| 527268 27| 7 11589| -1.1| 46684 25
M/ KR 8 1276950 5.0 5201879| 2.7| 10| 10158.1 213 355657 47| 9 9107 22| 36654 1.0
T/ R 9 1303616|  14.2 5110777 97| 7 15090.5 12| 496222 17| 8 9217 8.1 36808 5.3
A8/ 36| 10 998640 9.5 4113634| 43|12 8470.3 11.7|  34022.7| -10.1| 10 7754 58| 31983 -0.3
BN/ | 11 1021341 3.8 4176835  1.6| 11| 10093.6 0.9 384989 63] 12 7375  -13] 30231 -15
T/ Wi 12 816561  -1.0 3405191 29| 8 14801.8 10.2|  56881.1 13.9| 13 6243 -54 26021| -0.4
e/ gk 13 969361 146 3791633| 2.9| 16 3187.9 -36.6| 144211 -176| 11 7463 9.8 29812 3.1
SR/ 14 660063  -6.3 2932312 0.1 15 6058.9 09| 228769 -11|16 4808 -95 20951| -3.2
& /%38 15 668509 4.2 2464778 55| 13 6770.0 1.8 208545 -12.1| 14 5902 0.3 22694 -8.0
W/ FE4| 16 405416  16.2 1544332 9.8 20 1769.5 326 6522.6] 12.8] 15 4843 180 16450 105
B/ 2| 17 352618 22.8 1294319 88| 24 1016.1 37.9 3514.1| 17.6| 18 4296 193 16150 6.9
/2% 18 336793 4.0 1320948| 45| 14 6623.8 40.8| 214804 142]21 3267 3.6 12748 34
/M| 19 318870 219 1253297| 21.5| 22 1446.4 17.9 5236.6| 21.1| 22 2759 221 10455 196
13| 20 299819 175 1107532| 6.7 19 1869.7 8.4 69332 7.6| 26 2224/ 100 8479 12
Fri /e | 21 269782  17.7 932600| 13.3| 32 138.8 -56.3 426.8 -39.3| 23 2674 8.3 9589| -5.4
AN/ | 22 232395  59.8 796221| 203 23 1054.2 33.9 3438.7| -10.7| 28 1860| 525 6394/ 153
Wi o/ S Br| 23 202757 3.8 827820 1.8 26 7245 26.9 24484 212 25 2554 3.1 9993 2.7
TN/ H 4| 24 180039|  25.8 747218| 22.0| 27 555.0 75.2 2020.7| 16.3| 29 1524|  26.8 6356| 18.9
JBRE/ KKI| 25 226709 115 775515 -0.4] 18 2476.4 444/ 100008 76.8| 27 2034 -05 7254/ 8.2
ez /HoK| 26 185196  26.2 665758 5.9 25 866.5 92.0 2553.6] 59.1| 20 4054 357 12699 0.1
I/ Fve| 27 172085  30.3 610571 7.2| 28 361.6 229 2190.0] 325/ 31 1430 233 5158 0.1
B/ eS| 28 156368|  39.1 583943| 33.4| 29 295.7 4.4 879.8] -12.2 30 1485  40.9 5437| 29.3
e/ K| 29 118668  10.9 498629 32.5| 31 189.2 87.3 856.7| 926 35 1037 8.2 4381| 26.0
AE /R 30 100017 5.1 401148 11.4| 34 65.1 -18.0 309.2| 24419 4169| 405 11347| -54
| 31 82474 11 337754| 6.2 36 59.0 -42.5 193.4| -53.9| 36 806| -13.9 3564 -3.4
JEI/ B M| 32 76019| -14.8 312819 -2.8| 17 3119.9 9.0 158455 81.4| 34 1144 -12.7 4953 -35
EH| 33 87750 -17.7 340979| -22.1| 39 37.2 -82.4 238.2| -716] 33 1218 17.3 7046| 27.9
%2 /JFX | 34 64192 -86 286413 1.4 38 38.7 -36.8 137.1| -32.9] 37 710 -16.7 3390 -5.8
T/ 35 72034/ -158 292390 -7.7| 33 134.6 28.5 3749 -11.3] 32 1317| -69.4 4451| -65.1
Fie/=i%1L| 36 70208 617 255015 76.3| 42 13.8 64.7 55.2| 36.7| 38 556  42.2 2112| 374
H e/ 1l | 37 76999  -0.3 270586| -8.9| 30 266.2 37.7 7065 -56] 17 4674 -42.7 16442| -42.1
PR/ RHEL| 38 19319| -43.7 138346| 31.3]| 43 3.8 -95.2 52.2| -76.9| 46 186 -56.1 1428 126
HE/WA L] 39 40170,  -0.4 146853| -11.3| 45 3.0 -37.3 18.8| -42.71 40 426 -45 1699 -11.6
/% %] 40 34348 -27.8 132903 -27.9| 41 16.1| 2900 440 34142 336| -33.6 1406 -30.9
=W/ E| 41 26253  56.2 127701 37.1| 40 20.8| 1426.6 227.8| 57441 359 22.9 1554 32.4
Y| 42 36673 -13.4 130201 97|21 1469.7 15.2 4665.0, -7.9| 39 486| -19.5 1810 6.5
JUIL/JFil| 43 36055  50.2 118395 31.8| 46 0.0 0.0 0.0 00|43 332  36.1 1164| 24.6
#11/d0R| 44 27101 2.0 103967| -6.4| 35 60.4 -85 284.6| 30.3| 24 2628| 387.6 4172| 536
HoH /AL 45 24849| 409 78107| -13.9] 37 56.2| 2788.2 131.8| 2761.0 | 45 230 133 764| -31.0
| 46 28485  30.3 51602| -38.0| 44 3.3 -57.8 54| -88.1|44 276| 122 530 -41.1
B/ RS L (s | 47 0| -100.0 0| -100.0| 47 0.0 -100.0 0.0| -100.0 | 47 0| -100.0 0| -100.0






